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1. 30 S 2025 H, T : S| T U 1.  On 30% April 2025, a book titled
Ao NeRRem ame g w1 ffi) ‘Ramanujan : Journey of a Great

ey Mathematician’ was launched by
3 00, (1) Science and Heritage Research
(1) ERIE ferrera m qgd Initiative Division, DST
| _5'_ _':'_ ."- '_: m ERL = (2) Institute of Mathematics and
T TR ST FEATH AT Applications
(8) Institute of Mathematical
Sciences

(4) National Archives of India
(5) Question not attempted

¥ 2 Consider the following statements
for the new record created by the
player of Rajasthan in ‘Khelo India
Youth Games 2025’ and choose the
correct option :

Statement A : Hansraj Dhayal of
Rajasthan created a new record in
discus throw (1.0 kg).

Statement B : Hansraj Dhayal’s
new record in discus throw was
68.18 m.

(1)...Only statement B is true.

Both statements A and B are

z=Ue

A and B are

A is true.
tempted

endothermic

ver chloride
shlorine in
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4. sy
i FeHT 3 2 | 4 Fullerene, an allotrope of carbon
(1), 16w: W 91 qey 1 yte gewy contains :
T _ (1) 16 six membered rings and 16
| . .
2) 18%: gem T o 16 iy five membered rings
RNk (2) 18 six membered rings and 16

b five membered rings
) 12'%: vew gorg 7y 20 919 geey

(8) 12 six membered rings and 20

five membered rings
4) 209: e gog T ey
4) 12 919 (4) 20 six membered rings and 12

lE five membered rings
€y
(5) 3TIaiE wgg Lrj"r“ (5) Question not attempted
Gy
5. w; ¥R A1 T 9, w, ¥R i THEHF | 5. A body of weight w, is suspended
R Tt s 6 og 3 TCHTE AN R | from the ceiling of a room through
: hain of weight w,. The ceiling
o, %qﬁf%maa%@ﬁa?ﬁ A° 8
8 wd pulls the chain by a force —
(1) w; +w, B 1) w,+w,
Wyt w, _ W, tw,
D e E
' LS .
3) w,- 0 @) w,
00
@ w, " @ v
(6) Question not attempted
(5) ITNG A

6. 9fe T SR &1 g=EH 2000 kg% a"]a?r{| 6. If the mass of a car is 2000 kg,

10 mel A 20 morbw agr d) e e work o be done to
fopa e & B ;.H from 10 ms=! to 20 ms~! will be -
(1) 3800 kJ (1) 300 kJ

(2) 400 kJ | @ 400xJ

(3) 100 kdJ 3) 100kJ

(4), 200 kJ | (4) 200 kJ

(5) gaRd 9 l (6) Question not attempted

OB 3 o)
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S, Tftess w1 9R W S e B afaf
HE SR TEH % for ST | -

(1), Wgen

(2) TR |
@
(4) FTEEH
(5) IFaRG W

Wﬁﬁm%ﬁ%ﬁ'ﬂqﬁgnﬂmw

A Prefafea § 8 o Fra ware ¢ L

agly

(1)
)
(3
4
()

T, TSTEATH Port

WA &1 et ST
T FRatem s, TeR™
FATE T

mm%ugqmﬁ.—wﬁﬁnﬁf@am

aﬁm@ﬁa: r|
@ Wwﬁﬁéﬁﬁam
B 39T U 4T Gl & |

I wgeh s T @ g
© gy w s o
(1) eI wER | o
@ FAD,IRA)TAR |

@), Fma D) EER I’

4 OwWA)IHFEE |

(5) FrTaid 5w

)
Qi
T&T e, ToeH o

—— — ————
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The part of brain responsible for
maintaining the posture
balance of the body is

(1) Medulla

(2) Mid-brain
@)
4)
(®)

and

Cerebrum
Cerebellum

Question not attempted

Who among the following fixes the
time for poll for the Rajasthan
Legislative Assembly elections ?

(1)
@)
@)
(4)

Governor, Rajasthan
Chief Secretary, Rajasthan
Election Commission of India

State Election Commissioner,
Rajasthan

(6) Question not attempted
Read the following statements

carefully regarding the President
of India :

(I The President can resign from
his position by a resignation

addressed to the Vice-President.

The President will also inform
the Prime Minister about his
resignation.

(I)

Identify the correct statement/
statements :

(1) Only (II) is correct.
(2) Neither (I) nor (IT) is correct.
(38) Only (I) is correct.
(4) () and (II) both are correct.
(6) Question not attempted

OB
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11.

OB

mwﬁ?l 10

“ﬁmﬁﬁﬁi%faﬂﬁm%m
T 0 ¥ owed W A wE T
FH A IR A F A v
ﬁmmm%aﬂtmﬁuﬁm
Wﬁﬁ‘ﬁﬂmm@a, ﬂ'ﬂ‘lﬂ
mﬁ#w%mmm%ltg

Hﬁﬁmmwﬁﬁq

(1), (I)Q‘q’(ll)ﬁﬂﬁﬁl

@ FRNO,IAADTER |

3) FIaADEER 6
(@), S A W o5
(5) A
NI & G $T BF G 0] Fad
tifafieg % TeEl 1 TS & N9H & id
=fera It w1 Rge 3@1‘@3
FETE ? 0o
(1) T 75(4) o
(2. 3THT 75(6) ]
(3) Irg=T 75(1) {
(4) I 75(2) I
(5) Il T |
5

10. Consider the following statements

11.

regarding censure-motion n

Loksabha :

(I No leave of House is required
to move a censure-motion.

Censure-motion can be moved
against the Council of
Ministers or an Individual
Minister or a group of
Ministers for the failure to act
or not to act for their policy
regret,

(1)

and may express

indignation or surprise of the
House at the failure of
Minister or Ministers.
Choose the correct option :
(1) Both (I) and (II) are correct.
(2) Neither (I) nor (II) is correct.
(3) Only (I) is correct.
4)
(5)

Only (I1) is correct.

Question not attempted

Which of the Article of Constitution
of India mentions the ‘Individual
responsibility to the Head of the
State’ of the Central Council of
Ministers ?

(1) Article 75(4)
(2) Article 75(6)
(8) Article 75(1)
(4) Article 75(2)
(5)

Question not attempted

—
GET IT ON
Google Play
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12, R 9§ Wi foh W W oame foef @) 12, At which place Gagghar River

I ? generally vanishes ?
(1) T (2) W@ (1) Talwara (2) Khandela
(3), W (4) A .(3) Bhatner (4) Kolayat

)(5) Question not attempted

q‘" C"‘

(44
(6) e S 1t

13. T¥E wigen W ¥ Ry ¥ IFER, 18% As per the Mandate of the National
Trifea # ¥ e Rremdt w REw & Commission for Women, which of

i i e not
R 7 the foll.owm?g complaints are n
entertained ?
&) %I‘-'{f / ' (A) Complaint related to labour/
‘ industrial disputes
(B) e =/ % wwe i+(B) Matter is subjudice before the
fommedia 2 6 Court/Tribunal
© fEs: d@ awelt @ wmfRe 1 (C) Complaint related to purely
T

service matters

- T8 foea = v it
(1) %= (B) W (C)
@x (A), B) @ (C)
(3) %9 (A) @ (B)
(4) %= (A) T (C)
(6) IgaiE ww

Choose the correct option :
(1) Only (B) and (C)
@ (&), B and ()
": (3) Only (A) and (B)
24 Only (4) and (C)
“7(8) Question not attempted
4. TR H el f oot §] 14

; What is the difference  (in
e ot (Rreinfier §) 2 7 };ﬂometers) in  the distance
etween the length and the
(D) 45%6dh. (2) 42fead, % . breadth of Rajasthan ?
(3) 44fhft.  (4). 43, | e ) 45 kms (2) 42 kms
(5) TR we (3) 44 kms (4) 43 kms
(5)  Question not attempted
15, T 8 1 ¥ ) mea-sruaeh 4 | 15, Which is sit
27

ted i 1
Aravalies ? tated n the Mid
(D) mur (2 fyemh |
(3)e AM-TEE  (4) BrUEa

(5) gafE 9=

(1) Nag Pani (2) Bilali

(3) Nag-Pahad (4) Dora Parbat
| (5)  Question not attempted

OB
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16. Which of the following is not

16. Wﬁﬁﬁmquﬁ%?

SH
( e &3 Breeds of Area
1
) e e st & Camel ' "
@ (1) Kerupal  Bikaneran
)'”W TR 3K TG Churu
4 .

" (3)oaTeET (2) Kutchi Ganganagar and
( )(:-‘«'.3 ) ST Hanumangarh
@) s . (8) Nachna Jaisalmer

SRR (4) Gomath Jodhpur and
(6) i@y Nagaur
(5) Question not attem pted
17. 3iiqg # fo57 ol & @r fetn s, 17. With which winds do temperate
m‘fa;é'ﬁ Sy E 7 cyclones reach Rajasthan via
Pakistan in winter season ?
(1) z"‘i o 2
FL @ WWX (1) Loo (2) Polar winds
@) q—cﬁ ()« T (8) Westerlies (4) Trade winds
(5) e S (5) Question not attempted

18. AT 2011 ¥ @R, W fead et 9] 18.
Ri districts were having a child sex-
ﬁ:ﬁiw @ Gaﬁ) 9128 ratio (0-6 yrs) of 9127
eodt @ (1) Two @ Five
(3) @A (4 W (3) Three (4) Four
(5) I (5) Question not attempted
I ;
19, TEAH 3 Pofafed § @ fFa R i| 19. In which of the following district of
i 00 | Rajasthan is  ‘Spice  Park’
e 9 T & 7 | established ?
( 1)331'6’1 (2) Wdgy } (1) Kota (2) Bharatpur
(3) b (4) I« | (3) Tonk (4) Jaipur
(5) mﬂﬁﬁa’w , (5) Question not attempted

OB 7

matched correctly ?

As per Census 2011, how many
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20, Frew % FEER A T i T Wl

21.

23.

(1 ﬂﬁwwa%mﬂ

(2) STHA DI

. veat, ofw ol HRER, TERE %

s v o =fd aret Afemar
S SAAF § e A A
& Pl % 3rgEq et 8, i Hfaehar F1
ﬁqmwmw%?%ﬁ

(2) e o TR W A

(3) ferhan 1 qd-wieTd WY
(4) Afeepar 1 RFGTd &
(5) IR T

TRy A fefeiea 3-8 FH G TS|
FTEHE T/ MUER saﬂé’f%?
(1) TE-HiTrG "m

@) fafE
(4)e wed
(5) gERA T

]\.

0%

e et vl 318 TR 2

21.

22.

(1) 4 @ d=

@) (4) uE

(5) ARG

frferiaa 3 & form v T gl 9 Jm
fer 7@ 7 0o

(1)« IR (2) 4 ST
(3) fieramst (4) =
(5) A T

| 20.

GET IT ON
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According to Kohlberg ‘a stage o
moral development during which
individual judge morality largely
in terms of existing social norms &
rules’, is known as which level of
morality ?

(1) Conventional level of morality
(2) Post-conventional level of
morality
Pre-conventional
morality
Un-conventional
morality =
Question not attempted

of

level

3)

level of

(4)

®)

Which one of the following is not a
mining/reserve area of Rock
Phosphate in Rajasthan ?

(1) Goth-Manglod

(2) Dakan Kotra »

(3) Birmania

(4) Maton

(5) Question not attempted

Initially, ‘Green Energy Comdor
will pass through how™ many

districts of Rajasthan ?

(1) Seven (2) Three
(3) Six (4) Five
(5) Question not attempted

At which place of the following,
Cotton Textile Mill is not located ?

(2) Jalore
(4) Beawar

(1) Udaipur
(3) Bhilwara

(5) Question not attempted

0B
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24. SUEU ¥ 37FER, HAFATF A ¥q) 24. According to  Bandura, fO%II'

IR gifRufEt smevEs € | = qﬁf@ﬁ:ﬁ conditions are necessary in
observational learning. The right

L % .
FEFAR ! L) sequence of these conditions is :
Im :m “T{UI <]I
L) - oC (1) Attention - Motivation -—
. '
1 RERRICS Retention — Reproduction
l'_ (2) ¥EUR - URW - YR - (2) Attention - Retention -
STTTSREm Reproduction — Motivation
(3) FPBOM - FER - RO - (3) Motivation — Attention -
e Retention — Reproduction
I~ "
(4) YA - YR - APPEr 2o (4) Attention - Retention -
s . ;
e Motivation — Reproduction
g o | .
(5) TaRE T w-| = (5) Question not attempted

25. wARENA ghE H, e ¥ AIER, TH! 26. In the process of adjustment,

=T TH @uENE YRR § sy wee! |0 according to Piaget, in an adjustive
mode, a person takes her/his

|t He A o & of wu F wRafda] standard from social context and

Tl % STIER, Aot frvamdi ) wew ﬁm_ changes  her/his  beliefs in
% 98 eIl 8 i accordance with the altered values

oc of the society, is called :
(1) —ﬁ T - > (1) Conflict resolver
; @) Wl Gumbrganizer
(3) AN - (8) Accommodator
(4), ATHETHH (TfieT) @) L Assimilator
| (5) gefa g : ] . (6) Question not attempted
. 'lj‘-.__‘_
| 26. MFet Mo F HIER, frafafaa o ;?T?l 26. According to Danial Goleman,
_ ﬁ?m@mgﬁéﬁﬂm?ﬁ% ?.‘.Il':. which one of the following is not a
; . component of emotional
(1) W-ITrEhar intelligence ?
2 w@-fram (1) Self-awareness
3) s | . (2) Self-regulation
3 tivati
P (8) Motivation
| (4) Self-esteem
(5) e S I (6) Question not attempted
OB 2 o)
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27. A Al H T THR ﬁmﬂ G IDEDL | 927. A type of leadership style in whi

authority and power can b

wf Rl A 1w 8, Eﬁal decentralized but responsibilitie
ferhf 1 & weha, W% can not be decentralized, is called:
(1) T Hg o (1) Laissez-faire leadership
o0
(2) AR TG (2) Personal leadership
(3) S A (3) Democratic leadership
@) Waﬂa (4) Autocratic leadership
(5) FRA I (6) Question not attempted
28. frfafmmids A Wqﬁéw 28. Which of the following is not a
SR ¢ :%’ - characteristic = of  constructive
0 - supervision ?

(1) 39 WHR & T It &

(1) This type of supervision uses

Ay At v s e | the scientific and democratic
(2), T& YUFTES T e # methods.

mﬁm%mmmh (2) It is done to know the

difficulties of the headmaster

(@) & fFF mﬁm T TRt and teachers.

= e T | 11’41 3 It develops  individual
(4) 3HH TaEh] %1 GER Ggaril gl creativity and originality.

4 (4) In it supervisors’ behaviour is
(5) WW : supportive.

(6) Question not attempted
29, ‘wuy fian AfEm wﬁﬁm%mw
Frern 8 forget faan 2 : e
(1) ShecT HETT I@rVIIIé%
(2) had HeE IX & XIT 7%
(3) & wrfires @ e XII 7%
(4) FIAFET[A X TH

(5) 3FaRE g

29. ‘Samagra Shiksha Abhiyan’ is a
scheme for school education which
extends from

(1) Class I to VIII only

(2) Class IX to XII only

(3) Pre-primary to Class XII
(4) ClassI to X only

(6) Question not attempted
Ot
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30. TR T2 i et 35 g e 4 iy

31.

32,

OB

% fore Pt 3 & firr R/ P R
h e T R ¢
(a) i
(b) fosm
). s
Hﬁmmwﬁﬁanﬁﬁémm
w0 iR - o0
R |
(1) < (a)
(3)e (a) 7T (c)
(6) JHIaRd yw= .
A3, AfufEm-2009 % aérgerrr, fram
sifereRt grT STRfes R ) qrgaat st
iR iR SR (S ere) H
T fafafgs & @ 9 @ fmr =
afefera 72 fRrmman @ 2
(1), fefafEt gro 3t se-3f3a a0%
F i |
2 mﬂﬁwmﬁmaﬁmﬁt
e (gf¥srmam) 7o s |
(3) Graaaiw(amgrﬂa;)@r FIA
1 a1 fet sy A |
(@) ,wfeuE 3 wfomiia godi & e |
(5) ITgARa w7
A3 s, 2009 & yauEEER,
e TH H 7 % 10 R safi arerl
H HE 91 & 120 % 7 @A frd
Freeri R s AR 2 oo
(1) 4 (=W) 2)e 5 (TH9)
@ 2(@) (4) 3 (dR)

(2) 4 (b)
4)  (b) T (c)

(5) g w¥

—— ———— e — r—

30.

31.

32

82

11

— GET IT ON

Google Play

Which of the following subject/s i.s/
are not compulsory to appear 1
the Rajasthan State Open School

Examination ?

(a) Mathematics

(b) Science

(¢) English

Select the correct answer by using
the codes given below :

Codes :

(1) only(a)  (2) only(b)

(3) (a)and(c) (4 (b)and (o)
(5) Question not attempted

" According to RTE Act-2009, which

one of the following consideration
is not included by academic
authority while laying down the
curriculum and evaluation procedure
of elementary education ?

(1) Learning through activities
and child centered manner.

(2) Making the child free of fear,
trauma and anxiety.

(8) Medium of instruction as far
as practical be in Hindi
language.

(4) Conformity with the values
enshrined in the Constitution.

(5) Question not attempted

As per the provisions of RTE Act,
2009, if the number of children
admitted for classes one to five is
between 91 to 120, then how many
teachers will be required ?

(1) 4 (Four) (2) 5 Five)

3) 2 (Two) (4) 3 (Three)
(5) Question not attempted



https://applink.adda247.com/d/XhqWf9lSap

Adda2i7

. . istically minte
3. T, e 1 o 1 7 ) 9. The kg who tistially minted
ENEIRIMRL was
(L IR« I (1) Kumargupta I
(2) (2) Skandgupta-.
@) o= fad (3) Chandraguﬁﬁ's"; I
4) WETw 4) Samudragub%}.t
(5) Tha S (5) Question not attempted
34. N ANMG W, fafmeEg ure ofk wwi 84. Choose the incorrect statement
g | o L Tt R Vi
() Foe & Iner-favam,  ame- Tilak.
afergE 3k HATTH-JET 3O 1 (1) To generate- self-confidence,
N o | ST e
w1 R | Lathi clubs and Akharas.
(2) 1907 % U I anfie) Hw H g (2) Pal gave eviden_ce against
fr ST e 4 | ?;?E%OO ghosh in the legal
(3)« S AN T Y e IufRe (3) Lala Lajpat Rai opposed the
st = Ry i | | Punjab Colonisation Act.
(4), Tftesg e nitish g = fa?ﬁqrrq (4) Vipin Chand?_::; Pal was against
% . the Non-Cooperation Movement
STEEANT SHicrer  feeh & | initiated by Gandhiji..
(6) AgaE I= (5) Question not attempted

35. mwmmw&aﬁmmﬁl 35.

| Iéame the plgce dwher’e' Japanese
. overnment decided to trans ort
QTS S 1 37 fomm giau%qsﬁﬁl Subhas Chandra Bose beforephis
ST 1 e fpa o | | aeroplane cragh iE}gident.
(1) aff- || (1) Berlin E':’;
(2) E - I (2) Kabul :":1
(3), e { (3) Manchuria
4) - l (4) Moscow
(5) aﬂ?l'ﬂ?l EEE| | (5) Question not attempteqd
5 12

OB
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38.

39.

OB

T TSI AT 5 H A 9 7
(1) T IE®
(2) .. it

36.

37.

38.

39.

Py,
o

GET IT ON
Google Play

In 1593, pleased with the gervices
of Rai Singh of Bikaner, Akbar
gave him the Jagir of which place
in present GuJ arat 7

(1) Bharauch

(2)- Junagarh

(3)7) Surat

(4)) Ahmedabad

(55:...- Question not attempted

Who was the founder of
Independent Labour Party ?
1) J.L. Nehru

2)- MK. Gandhi
(3)% B.R. Ambedkar

(4);F R.B. Bose

(5) Question not attempted

Who among the following prepared
“The Archaeological Remains and
Excavations at Bairath’ report ?

@) R.C. Agrawal

(3)" Daya Ram Sahni

(4) B.B.Lal

) Question not attempted

" The Chauhan ruler who defeated

Tc!m_ars of Delhi was

(1)) Arnoraj

(21);:"':—':_ Vigrahraj IV

(3) Durlabhraj IIT

(4) Vigrahraj II

(5) Question not attempted
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40.

41.

42,

|

l

|

5|

@) Preimsgmy i
|

l

|

1857 % fagie & wmr arii % e
a3 S F g ¢

(L) 30 3T 35 e st
(2) =g X

®f 159y
4 mﬂaﬁsaﬁmzzgﬁ
(5)  Igafa v

it

ﬁqmaﬁﬂﬂﬂqw_ﬂ?ﬁwmlﬂ.

AT W g T § 7
(1) Fatfare gt
(2) «aHfiE

(4) @ MureeE |
(5)  arwIfed e

(cagie]
Google Play

40. During the revolt of 1857, the

41.

14

arsenal of Ajmer was guarded by
which Native Infantry. ?

(1) Grenadier Company of 30t
Native Infantry

(2) The Bombay Lancers
(8) 15th Native Infantry

(4) Her Majesty’s 83rd Light
Infantry

(5) Question not attempted

Which  among the following
appointed an Enquiry Commission
under the leadership of Bhawani

Dayal in the Bijolia Peasant
Movement ?

(1) Rajasthan Seva Sangh

(2) Rajputana Madhya Bharat
Sabha

(3) All India National Congress
(4) Maharana of Mewar
(5) Question not attempted

~

Who among the following is not
associated with the Karauli
Prajamandal Movement ?

1) Chiranjilal Sharma

(2) Man Singh

(3) Trilok Chandra Mathur
(4) Swami Gopaldas

()  Question not attempted

0B
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43, ITSTET S WTeN fohell & TEY H S A1 HU
AT @ 7
(1), ST o T Goomel 3 fhet % et
@) Pt =g o et o v
(3) FTH15TRAR52BRE ¢ |
(4) o g0 & S g6 FEE
=T |

(5) TG S

o
44, T ) fFE famed ¥ wER T gl
teadl % v § frem ® fife % feg

it i T A w1 e R 7
(1) SuR
(2) TR
(3) iR .
(4) JFTR I
45, Freffen ol i 2 Sa/d iR /82
P wfar
A dfafrE- -
w8 |
B. drmmm ~ g =
C. oEeeE gt § - ﬁrelli:raw |
He: |
(1) AsC (2. A B3RC |
3 WA 4 AswB |
(5) e T }
OB 15

43. Which

. Which princely state of Rajasthan

. Which of the following pairs is/are

GET IT ON
Google Play

statement is incorrect
regarding Bala Qila of Alwar ?

(1) Raja Surajmal of Bharatpur
built a reservoir Surya Kund
in the fort.

(2) Chaturbhuj devi of Nikumbhas
is located in the fort.

(3) It has fifteen big and fifty two
small Burj.

(4) Hawa Bangla Burj was
constructed by Vinay Singh.

(5) Question not attempted

attempted to accede to Pakistan
against the policy of merging of
princely states in India by Sardar
Patel 7

(1) Jodhpur

(2) dJaipur

(3) Bikaner

(4) Jaisalmer

(5) Question not attempted

correctly matched ?
Text Author

A. Veli Krisan- — Prithviraj
Rukmani-Ri

B. Veermayan — Dursa Arha

C. Achaldas — Shivdas
Khinchi Ri Gadan
Vachnika

Codes:

(1) AandC (2) A,BandC

(8) Only A (4) AandB

(5) Question not attempted
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46. WRa ¥ TRl off vt gt St Hf<t %| 46. From which pilgrimage site is the

i % s s < %{:{ ;ﬁgf = Q eternal fire taken after the
ity | e 2 e
® =9 (1) Kolu
_ @ ggu (2) Sursura

3) T ' (3) Khadnal

(4) WX (4) Paner

(5) rEiE = _ Fj (5) Question not attempted

iy

47. ﬁﬁ'l‘e’ % I i 1 & wrtwe i W] 47. Namé the painter who painted

ﬁﬁawﬁaﬁéﬁmwww| Ragamala during the tenure of
Amar Singh I of Mewar.
(1. R (1) Manohar
@) sRmR ‘: (2) Sarangdhar
| 3 frewdm (3) Nisardin
(@) =R N (4) Sahabdin
(5) e wed (5) Question not attempted

48. ﬁtrl%aﬁaa guft =1 ‘emmtm%

T g ?0 24 - '.l
5 10 26 5&) 122 lll

48. The next term of the following
series is :

|
|
; . | 5, 10, 26, 50, 122, ...
@ 170 =, | 1) 170
@) 182 | "
(3) 154 | @ e
| 3) 154
(5) 3ﬂﬁﬂﬂ qH | (6) Question not attempted )
0O 16

OB
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TS

49. 9@ AfK A, B, C, D, E,Faﬂ'{GQﬂ?' 49.

ufert o 36t FATTER © € | W ) st
A 3B % wex gt 10 i @ 7T sHArTd
safdRmt 3 "o gt 1 it 9 & 9wt 35 @t
B@TF%W@% I~

1), 307HR 5

@ 347 &

@) 357

(4) 32HX

(5) TG ¥

50. afg x2 a:htx—lzﬂ W;mw M2, @
xaﬁt%mwmz -

2
) [M_Ll)

@

2

=
2 I~

® W1
GFED

@ 3

(5) IR T |
51. Frer dumit B T ge A § el foe

T -

29, 32, 48, 50, x, x + 2,72,.78, 84, 95

afe <1 sitwet 61 wies 63 |, A x H

a2 o« i

(1) 68 @ 79 |

(3) 60 4) 62 |

(5) I A |

OB u

50.

51.

Seven persons A, B, C, D, E, F and
G are standing in a IOW
sequentially. The distance between
‘the first two persons A and B is
10 metre and the distance between
successive persons decreases by
1 metre; then distance between B
and Fis:

(1) 30 metre
(2) 34 metre
3
(4) 32 metre

(5) Question not attempted

35 metre

If the arithmetic mean of x% and é

; 1 .
is M2, then mean of x and  is

) [Miz”“—l)

2 [Mzz’ 1]
@ VM2-1

JoE+D "%

N
(5) Question not attempted \,\%

bS
The following observations have \,{%%

been arranged in ascending order : 9,
\
29, 32, 48, 50, x, x + 2, T2, 78, 84, 95 \\/

If the median of the data is 63,

then the value of x is ]\4 1
(1) 68 (2 172 /"
(3) 60 (4) 62 6°

(5) Question not attempted
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62.

53.

54.

aﬁx—2+\l_% a e et w faEm

[:wl) o o e R |

B(
o o1 e
21

32 o e

)@mﬁﬁam%l

H

e 3 & e foreew g -
1) wmcwﬁ'{%@
(2) FFB,CaDTAE|
(8) FWTA BICHiE I
(4) HWABIDTHE
(5) Irgaitd S

afe TgIE x3 — 4x2+x+6WQ$¥EJ
g, TEIAAE

1) 2,3 (2) -2,-3

3 2,-3 4 -2,3

(5) ergaid ¥

7fe s wefiertonl g

2¢+3y=T7 - I~
2ax+(a+b)y= 28,

% 1 7 T € ?hﬁnﬁia‘zﬁqm
e ?

(1) a+2b=0 (2) b+2%=0
3) a=2b (4) b=2a

(5) Ty

53.

18

54.

GET IT ON
Google Play

52, If x = 2 +‘\/§, then consider the

following statements :

A. (x - %] is a rational number.

1 ) .
B.. ( - ;) is an irrational number.

. 1\2
C. [x+‘1'] ( —'lJ 1S a rational

% X
number.
D. (x+lJ( -l) is an irrational
x X
number.

Choose the correct option from the

following :

(1) Statements A, C and D are
correct.

(2) Statements B, C and D are
correct.

(38) Statements A, B and C are
correct,

(4) Statements A, B and D are
correct.

(5) Question not attempted

If one zero of polynomial

x3 — 4x% + x + 6 is “1’, then other
zZeroes are

) 2,-3 “4) -2,3
(5) Question not attempted

If the pair of linear equations
2%+ 8y =17
2ax+(a+b)y=28

has infinitely many solutions, then
which of the following is tyue 9

(1) a+2b=0 (2) b+2a=0
(8) a=2b 4) b=294
(5)  Question not attempteqd

OB
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25, T TE-guE T 6 R e 10 e
3N gEh T 8 Wi R | T I [ H
5 © (1 = 3.14)

o) 62.8 {ie®
(2) 125.6 e
(8)  94.2 W

(4) 188.4 Hre
(B) IR W

55.

s, W 2r % UG ¥ G I T W
4r FANH A 9 4r3€r§%@amﬁ
T@1 T R lﬁmqﬁmwﬁ@rmm--
R | gL I 6T AR
mmﬁﬁﬂ@ﬂﬁwﬁmw'
)

(1) THFATHAATAR
(2) TS % A | TR | |
(3) e ST F TR |
(4) oH & SR A AR |
(5) TgaE ™ e

57. Rt 5.5 3ft x 10 At x 3.5 Wht | 57.
w T T & R LT ——
2ﬁ?ﬁfﬂa1ﬁfl§‘q’réﬁﬁﬁiﬁaﬁfhﬁl
%! fygemT ogm ? 1
(1) 360 | i
@) 400 |
(3 200 s |l
4) 300 |
(5) et e |

OB 19

56.

GET IT ON
Google Play

The slant side of a right- -circular
cone is 10 m and its height is 8 m.
The area of its curved gurface 18 :

(r=3.14)

(1) 62.8 m?

(2) 125.6 m?

(3) 94.2m?

(4) 188.4 m?

(5) Question not attempted

A solid metal sphere of radius 2r is
put into a cylinder of internal
diameter 4r and height equal to 4r.
Cylinder is completely filled with
water. The volume of water filled is

(Assume that water occupy
complete blank space)
(1) Double of volume of sphere.

2)
3
(4)
®)

Half of volume of sphere.
Equal to volume of sphere.
Half of volume of cylinder.

Question not attempted

How many silver coins of 1.75 cm
in diameter and of thickness 2 mm,
must be melted to form a cuboid of
dimensions 5.5 cm x 10 cm x 3.5 cm ?

(1) 360
(2) 400
3) 200
(4) 300 S

(5) Question not attempted
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58. THABT W UK AYGR ? ’ 63. Match the prefixes under Column
1) g A with the words under Column B :
_‘ Column A Column B
2) =R 05 a. mis- (i) tie
(Ba‘ mﬁ-ﬁ[ _ T”;f.“."r b. de

| >(ii) content

. = c. un Aiii) conduct
(@) e d. diﬁ ééiv) code -
(6) orgaRd yw

(1) a-(iii), b-(iv), c-G), d-(ii

_ (2)  a-(ii), b-(iv), c-(i), d-(iii)
59. Post’ TS weg @1 ;nmwim &6 (3) a#(iv), b-(iii), c-(ii), d-(i)

g TET 8 %—} -a-(i.ii),_ b-(iv); c-(ii), d-(i)
W %5 @ o é}io Quets:on not attempted

7y . ose e : .
(3 w_ 4) TFITTEI appropriate passive

form of the given active sentence -

(6) ITafEyTE L He ought to help her.
_ (1) She ought to have helped by
60. e v =1 G-l e 2 7 him.
. (2) She ought to have been beingg-4
(1) 9 = W2 + [mE,- helped by him. &
(2) =i =915 + ?-‘!L (8) She ought to have been
3 =+ 3 helped by him.
() o ' (4> She ought to be helped by him.
(4) artem = St + :ﬂﬁpl" (5) Question not attempted -
(5) rgafE wE £0 65. Choose the verb that agrees with
s the subject :
61. ﬁw%rﬁaaﬁﬂﬁmﬁm%ﬁ}ﬂm - Three parts of business — left
v g ¢ wE for me to do.
(¥ are not (2) were
P T, F+H, fegeard | @ is 4) are
(2) I, v, Prart () Question not attempted
(3) g, weTs, Ut 66. Choose the correct article -
4) T, e, S My mother goes to temple
regularly.
(5) 3TafE ww (1) the (2) o article
O @) a 4
62. Freerfay i frciva m 71 2 s o M

(5) Question not attempted
(1) HER - HeER

|
l
|
1
I 67.
|
|
|
|

Choose the correct translation of
(2) wifers — amfys the phrase ‘dissemination of
@3), afife — Istruction’,
> o D) gemfooh  (2) o5t Ry
(4)  snfavita — fodrura @) Tl wen (@) et vw
(6) srgafe w '

()  Question not attempted
20 OB
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68. UM & ww¢ 2025-26 % 3ER,| 68. According to the budget of

YA I ITER AT 3 Y 6T H Rajasthan 2025-26, under the
Chief Minister Amrit Aahar

w=it % arfifera duw ¥g T § e Yojana, announcement was made

ﬁa‘gqquaw T IEE IR L IR to provide milk for how many days
= in a week for additional nutrition
(1) 6 fem= 1 of children between 3 and 6 years ?
@ 7f@m @ (1) 6days
~(2) Tdays
3y 3fe=®
(3) 3days
(@ &% | (4) b5days
(5) ITTTRG A .. (6) Question not attempted

69 Consider the following statements :

69. Prefefaa el T REm R

(i) National Remote Sensing

@ e TR T T e Centre  (NRSC),  ISRO,
¥ (TAEEE)) 3 26 ", 2025 Bengaluru, conducted the

N THIREH i = @ ifEm User Interaction Meet 2025
(UIM 2025) in association

%ﬁg(mm)%mﬁm : with New Space India
N —— - I L Limited (NSIL) on 26

(3T 2025) o1 TS foRaT | March, 2025 at NRSC.

(ii) Core theme of the meet was

(i) HEEH T forw _"”[E“ RIS Implementation of Indian
Sy &1 FEtaE — Rufa ok wferea | Space Policy ~ Status & Way
£ foem o1 | | Forward’.

B —— AP a/ATad i E Which of the statements given
' above is/are correct ?

|
|
1) @) 3 G) | () Both (@ and (i)
(2) () A (i) || (2 Neither (i) nor (ii)
|
l
I
|

(3) ad (i) (8) (i) only
(4) (ii) only

(5) Question not attempted

OB = o
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70. WN 2025 § ¥ TR 6, @ ashl 70.

2.0 AT & F=wta ToRUH F fRg AR
%! fowm st & R 7 8787 wm #t
wipfer firef 2 7

1) sfer e ()

2)  *h ETewEm R ()
(8) e Hfex gt (3rti)

(@) o mfdeea wfex (s
(5) . TG

1. A 2025€iﬁﬁwﬁ%—-}wmﬁh% 71

w9 8 Rl weh aftg et g =t
TG A % fore o i s (qwaiy)
T TR foh MU | wwa 3tk sfieie %
ATE1, T8 THSNT [ W TR 0
AT IT PH AR ?

(1) g

(3) s 0
@) wW® €
(6) sgefEwE

72. 3@ 2025 § ude g s 63| 72.

foraes fra-wdie 1 fawa (ofm) -1
o1 ? I
(1) “free® : s, e o ok |
(2) “farmes : foame e a3 |
(3) “femads : AT HAer srereia ¥ |

Hrfed faem & oo |
(4) e : g, e st e I
(5) 3T S |

O 22

GET IT ON
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Under the ‘Swadesh Darshan 2.0
Scheme’, of the Central
Government, to which temple of
Rajasthan a sanction of ¥ 8787
lakhs is given for the development
works, in March 2025 ? -
(1) Shrinath Temple (Nathdwara)
(2) Shri Khatu Shyam Temple
(Sikar)
(3) Brahma Temple Pushkar
(Ajmer)
(4) Shri Govinddev Temple
(Jaipur) '
(5) Question not attempted

In April 2025, a Memorandum of
Understanding (MoU) was signed
to  promote regional energy
cooperation through the
development of Trincomalee as an

energy hub. Besides India and Sri

Lanka, which other country is g

signatory to this MoU ?

(1) Singapore

(2) United Arab Emirates
(8) Japan

(4) Qatar

(5) Question not attempted

What was the theme of the 6th
BIMSTEC Summit hosted by
Thailand in April 2025 2

(1) “BIMSTEC National
Treatment and Assistance to
Vessels, Crew and Cargo”

(2) “BIMSTEC Dispute
Settlement Mechanism”

(3) “BIMSTEC : For organized
development of  Human
Resource Infrastructure”

(4) “BIMSTEC Prosperous,
Resilient ang Open”

()  Question not attempted

OB
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73. 30 2025 ¥ ToyW ¥ <7 wfew” (gfa
) T HI3HE el WE 7
(1) = Ew
@ SR
(8) Yiwaret
(4 g
(5) TG A

74. tna‘ 20251?%411?:%@%%%3%@?

“TTT g GEHR 2021-22" N “fernfim
WG I GEE TR 2025 % F@u 3
freferfaa st qufEm Rt |

G) e i fEn T H e S A
WU T gEH FEENE AN
e 391 F fog ‘fowfa wid
Fa1 TEE RN 2025’ ¥ GG
Teran T |

USTEM o €7, ugg o 1 S

irtrﬁﬁ‘uélugmgaammzl 22’ ¥
gofa femmar 1 o

R M wA A w /AT R/E 7
(1), (@) 3 (i) G

(2) Fdt @) AL (i)

(38) %ad (i)

(4) e (i) |
(5) Frgaa ¥ |

75.

(i)

73.

74.

75.

GET IT ON
Google Play

Where was the conference on
“Green Justice” held in Rajasthan
in April 2025 ?

(1) Baran

(2) Jaipur

(3) Bhilwara

(4) Nathdwara

(5) Question not attempted

India’s first sickle cell wellness hub
was inaugurated in March 2025 in
which district of Rajasthan ?

(1) dJodhpur
(2) Jaipur

(3
4
(6)

Ajmer
Udaipur B
Question not attempted

Consider the following statements
about the ‘National Youth Awards
2021-22’ and Viksit Bharat Youth
Parliament Awards 2025’ ©

(i) Riya Gupta of Rajasthan was
conferred the Viksit Bharat
Youth Parliament Awards
2025’ for the most insightful
and thought-provoking
question raised during the
session.

Dr. Mahendra Meena of
Rajasthan conferred ‘National
Youth Awards 2021-22’ in the
individual category.

Which of the statements given
above is/are correct ?

(1) Both (i) and (i1)

(2) Neither (i) nor (ii)

3) (i) only

(4) (i) only

(5) Question not attempted

(i1)

OB
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